», PPT:000,00 o,v\@
7 % X=5889996.59, 4 @
\m Y=8443446.68
\A/u =)

g,

zjazd indywidualn
014,74

km
&

N
o
j=)

=

~
&

N
&

&,

jazd indywiduall
m0+01%%3

ny
.
4
K
[
w o+
N
23

0991

0GP

)
SN
&
591

&y

~

X=5890033.02;

Y=8443483.03

N
ny—

zjazd indywidual

km

«. _/ 7 [z %

v

ZMIANA POCHYLENIA POPRZECZNEGO JEZDNI
0D KM (000.00D0 KM,0+015,00

7y

<
% @W‘\\

3

o
B

9n8g

Luk

R=75.00

.\\\\
N N

T~

Do KPT:083,92 S~

“ X=5890043.41 D AN
Y=8443514.02 <,

/ /

129,20
% L=35m w1
QNSSSN
3
,f\ ﬁ/./ ~
.
&d % W
2% 2 %/

@ 7 7, /] Q/mVW\ % \hNM.\QNMv QN/AO\/\

\\A..o.o 7 7 A 2

\% SN
/ N
P4 \* /
\\\ /
— &
AN Q,v\ ’
Ay SN
[ ] /
2 7
Mo /
R A
“\ X
e 447 /
&
. = %A«v —
<! \
\%&
Qrw.a,

'X=5890039.057 A\
2
N «&t&%&@%
@W Aob % \\

7, / T /
- Z
Vo4 & /
VNMV 4 gy B % \
S /
Sasn
< ~ J



